HASSELEBRO Picnic Round - Art nr 09281 / 5
Brafab

Assembly instruction

340 o 200
200 [
2 60min ko T |

| e B

IMPORTANT!
Do not tighten screws during assembly.
All screws must be tightened up only at the end of assembly.

AlC)( A M8x80 x18
B @ ( | oy | M8x120 x14
C| ® D——wmwm- 5x50 x16
D Q) M8 x32
E M8 x32






3/5

<
X
3
&
=
O,
<

C| ® h——wmm- | 5x50 | x4 |







5/5

6
o @ 2
D E<
A @ ( I M8x80
B | (o) (F M8x120 | x2
D Q) M8 x4
E M8 x4




	Sheet1
	Drawing View4
	Drawing View8
	Drawing View17
	Drawing View21
	Drawing View58
	Drawing View61
	Drawing View64
	Drawing View74
	Drawing View79
	Detail View U (1 : 6)
	Detail View V (1 : 6)
	Drawing View325
	Drawing View326
	Drawing View327
	Detail View AI (1 : 1.8)
	Drawing View452
	Drawing View453
	Drawing View454
	Drawing View455
	Drawing View456
	Drawing View457
	Drawing View458
	Drawing View461
	Detail View AK (1 : 1.3)

	Sheet2
	Drawing View331
	Detail View  (1 : 3)
	Drawing View341
	Detail View  (1 : 3)
	Detail View  (1 : 6.5)
	Drawing View346
	Drawing View349
	Drawing View350
	Drawing View462
	Drawing View464
	Detail View AK (1 : 1.3)

	Sheet3
	Drawing View363
	Detail View Z (1 : 5)
	Drawing View367
	Drawing View370
	Drawing View371
	Drawing View381
	Drawing View385
	Drawing View386
	Drawing View387
	Detail View AJ (1 : 3)
	Drawing View466
	Drawing View468
	Detail View AK (1 : 1.3)
	Drawing View470
	Detail View AI (1 : 1.8)

	Sheet4
	Drawing View391
	Detail View  (1 : 4.3)
	Drawing View393
	Drawing View395
	Drawing View397
	Drawing View400
	Drawing View472
	Drawing View473
	Detail View AK (1 : 1.3)

	Sheet7
	Drawing View424
	Detail View  (1 : 4)
	Detail View AF (1 : 5)
	Drawing View430
	Drawing View431
	Drawing View434
	Drawing View435
	Drawing View475
	Detail View AK (1 : 1.3)
	Drawing View477
	Drawing View478


